2_

B2 R2 104 25 ERALHB AT HAA

#E  AMIER N RN | oF-

AELAREL S B BRAASER LML BRRARE AL LEFLARARRALRN  FARTHS -
L

Please provide the structure of major product of each reaction (18 2 4

v 340 4)
T
NHz Li, NH5 HCI
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EtOH HO
MeO
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6. Rank the following compounds in order of decreasing acidity:

0
O @]
(i) @OH (ii) HBCJ\OH (1ii) HiC——H (iv) ><O;§~H
0

(A)i<ii<iv<iii (B)ili<i<ii<iv (Q)ii<i<iv<ii (D)iv<iii <ii <i

7. a-Farnesene is a constituent of the natural waxy coating found on apples. What is
its IUPAC name?
= et R PR
a-Farnesene

(A) (3E, 6E)-3,7,11-trimethyl-1,3,6,10-dodecatetraene
(B) (32, 67)-3,7,11-trimethyl-1,3,6,10-dodecatetraene
(C) (6E, 8E)-2,6,10-trimethyl-2,6,9,11-dodecatetraene
(D) (6E, 82)-2,6,10-trimethyl-2,6,9,11-dodecatetraene

8. Which is the monomer structure of the polymer shown below?

“ﬂb\@)>x m)}\®>}\

9. Which is the major product of the reaction listed below?

5 [ cat. FeBr,
@ ¥y ® ¥ O ) iy
CO

Br
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10. The structure of Penicillin V is listed below; please assign the R or §

configuration according to the numbering of the chiral centers.

j;’/s Me

CO.H
(A)2S,5R, 6R  (B)2R,5R, 6R (C)2S,5S,65 (D)2R,5S,6S

Ph

11. Which is the major product of the reaction listed below?

Q’Me KOH
"Br
O/Me (B) Q,Me © O»,\Me i @/Me

12. Which of the following compound is not aromatic?

@) N (B) © 4 5 4 D
O O oy
L

e

sartuen e

(A) Ethyl acetate (B) Acetone  (C) Acetaldehyde (D) Acetic acid
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14. Please identify the structure of the final product in the reaction sequence listed

below.

(A) oH (B) ¢ (C) (D)
4 —OH ©J\/CI

15. The general reaction scheme of acetoacetic ester synthesis is listed below. Which

compound can’t be synthesized by this method?

1) CHaCHoO~ Na*
2) RX
0O 0 3) HyO* 0

| 5
HGCJ\)\OCHQCH;,, HECJ\/ R

(A) o o, (B) 0 (©) o D) O
HSCJI\/I<CH3 H3Ck/\ Ph HSC@ HgC/U\A/CHS

CHs

L (A2 10 2 > # 40 &)

16.Please write down the mechanism of the following reactions.

a
(@) —
¥ i OH

(b)

[ —— 0



(c)
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